Day 6 Comparing Lines.notebook November 07, 2016

In1erprei the slope, yimtarcept, cmd any other pgrDof a linear functicn in

>

21 context of aword problam
1) The table below shows my om 26 = 30. Use the dgia to answer the following questions.
Income ($1000) | 1&3 191 | 233 | 254 | 339 | 9 )‘
Identify the |ndL':H:ndl:nt variame and dependent variables. r S a@_kx &'b \j o

@ Dcsulb-rwh? he arde Edwu[ *2—3 Bl—mhs in th cuntrxl#’l?g&'\ EQV\VA
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40", 339@: 3;{\% . g(@ 300

( >What Is the slope from your IIne"B %t does your slope mean In the context ofWhe problemﬂ ‘
@Jsmgvnut equation, how much will | make when I'm rs old j gp E j ’

@ Uslng your equation, determine how old I'll be when | make 560,000,
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The Picrure Tells the Linear Story

Sketch each equation’s graphs on the axes provided.

Answer the questions for each family of equations ‘ ;

i

33 0 o] FR

ow are the lines the ﬂme" — - \ (\*

ol grafes ae ‘:wasu%,au Qopesoue PO Ut and=1.

2. What s different about the lines?

16kled i duCCerent \ﬁ
P&chak\(xﬁ U e

3. Where dpes each line cros? the y-axis?
Line 14
Line 2

Line 3:

4. What hdppen€to the l)h \\11:1'1.} couw‘.»t!.m 1s added to y = x?
Add : ling Mmrs g
5. Write an eﬁl%-n im’!ll}tg: similar to rhos; %ul crosses the y-axis at 5.

X 4D -

1te an equation for a line similar to those above but crosses the y-axis at —

Y=x-3
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ECfle 1
Y-3*40 =340

el

1. How are all the graphs alike? Why?

Same Guinirop-c
diteent-Sope dferent Sesporesy
*ling Wi ogg %

Sl oo = e s (il

fo’f%e sloJx = MOre §
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III.

y=x

1. How are the lines alike?

2. How are the lines different?
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¥ ==X y==2x ¥ ==4x

1. Name 2 ways the lines are alike.

2. How are the lines different?

3. Which line appears the steepest?

4. What makes the difference?
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Practice/Closure Day 4

V. Use the information from the previous graphs to answer the following questions.
1. Where does each of the following cross the y-axis?

a y=2x+7
b. y=-x+11
1
¢ y=—x-8

2. Wlach of the lines below 1s the steepest? Explain how you know.
a. y=2x+7

b. y=-x+11

3. Where does each of the following cross the y-axis?

a y=x+8§

b. y=3x-4
1

c.y=—x+3
2

4. Which of the lines below is the steepest? Explain how you know.
a. y=x+8

b. y=3x-4

e y=_x+ 3

5. Where does each of the following cross the y-axis?
a. y=-x+8
b, y=-2x+35

1
. ¥Y=——x

6. Which of the lines below is the steepest? Explain how you know.

a. y=—x+8
b. y=-2x+35§
c '=—l'c.
" 3

If a linear equation can be wrntten in the form ¥ = mx + b, where m and b represent any real
values, explamn the effect of m on the graph of the equation.

8. Explain the effect of b on the graph.
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